
fg=white Énoncés Réponses

Activité Mentale
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Développer (2x− 5)2
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A(1;−3), B(−2; 4), C(0; 5) et D(5;−1).

(BC) et (AD) sont-elles parallèles ?
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Développer (2x− 5)2

Réponse : 4x2 − 20x + 25
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A(1;−3), B(−2; 4), C(0; 5) et D(5;−1).

(AB) et (CD) sont-elles parallèles ?
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A(1;−3), B(−2; 4), C(0; 5) et D(5;−1).

(AB) et (CD) sont-elles parallèles ?
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A(1;−3), B(−2; 4), C(0; 5) et D(5;−1).

(BC) et (AD) sont-elles parallèles ?
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A(1;−3), B(−2; 4), C(0; 5) et D(5;−1).

(BC) et (AD) sont-elles parallèles ?

Réponse : oui
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